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6.1 Identities: Pythagorean & Sum and Difference

Reciprocal Identities

1 . 1 1 1 1
cscx = — , sinx = , secx = ,C0sx = — ,cotx= — ,tanx =
sinx cscx COSX secx tanx cotx
Ratio Identities
sinx COSX
tanx = — , cotx = —
cosX sinx

Cofunction Identities
. n T .
sin (E—x) =cCcosx , COS (E—x) = sinx
T s
tan (5 — x) =cotx , cot (E — x) =tanx
m T
csc (E—x) =secx , sec (E—x) = CSCX

Pythagorean Identities

sinx+cos’?x=1 , 1+4+cot?x=csc?x , tan’x +1=sec’x
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Sum and Difference Identities (6.1-book, 6.2-handout)
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O~ b 2 b
20. SinX C0S3X + cosX SinAX
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40. Given cosk= l; , AEQIT
&pP"2+) PeQm
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Homework:
6.1 Handout: #13-23 odd (proofs)
6.2 Handout: #1-23 odd; 35-41 odd

& memorize your identities!!!

.l Prove.
2|. CosX
[-Sinx t X

Lis = cosX I+sine _ cog(Msiox) - . .
-sioX " Trsing - |-5in?X
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